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5 RE AL i SiES
1 R ENSE 7N B 4 Dstsoomsopioiorok | )
2 mHE SRR Yl 4 Isksstokfokotokook | 7
3 R ENSE 7N wHH 4 Lstsoteototsioiolk 2
4 mHE SRR FRE 4] ssksostettototokskok 3 4
5 e P AR i 4 Dststootsoioliol k66
6 e I FH AR B 4] sskskotsksofstekotok ok 5 8
7 e A B SR N 4] stttk 20
8 e B SEE HIKA 4] sxskkokokkkkokok k9 2
9 e B S 5 T2V =2 4] skttt ] 1
10 e A S FH R 4] sskskotsksostekotok ok 5 6
11 e B S 5 S 4] sskestsiettsokestokokok 3 7
12 e A S e 4] ssksostesttostoksok 4.4
13 I SC R IPa e 4] stttk 25
14 WIHE B 4] kst ] 7
15 I SC HEE S 4] seststsseotstekseokstokskok G X
16 WIHE A )
17 WIHE ST XI| ek 4] swoktorokkokok koK 28
18 WIHE i i fk 4] kst 2.0
19 I SC K B 4] setstsseotsteksostokskok 4 2
20 WIHE HH A 4] kst 2.0
21 I SC R 4] stttk TX
22 WIFRiE BRI 4R R m— X!
23 I SC R 4] stttk 4.5
24 HIHIESC F e 4] sskskostesttosotoksok 4 X
25 I SL e 4] sestskstetsksteotskskteok 4 7
26 WIFRiE S i T 4] skttt ko 6.0
27 I SL [ e 3Gsksoksoktokskoktok 3 7
28 WIHE R 4 Tokssotoiofakskotook ok 0.4
29 I E S ok IV 4 1 skskskskskokskstoksokskoksk 4 |
30 WIHE KAV 4 [ sksttokokotok ok 6,)
31 I SL RS 4] stttk D |
32 HIHESL AP 4 Lokttt 4 X
33 HIHE S F3E 4] skkkskskkdokkkdok k98
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FFs RE AL 4 SHiES
34 WIHE A= 4] skttt ] 9
35 Y HE S F 4 4] skskskrkoskokokkokokok 73
36 HIHESL A= 4 okttt ok 0.2
37 I SC &3 4] stttk D |
38 WIHE HF R m— X!
39 I SC 5 4] setstsseosteksoktokskok 23
40 WIHE 2544 [ 4] kst 4.0
41 I SC PRS- 4] stttk 016
42 HIHESL PATVK 4 okttt 62
43 I SC 1 5 e 4] seststsseotsteksostokskok 2.4
44 WIHE 25 4] skskskostettoktotokskok .2
45 I SL UG 4] sestskstetsksteotokkeok 2.7
46 WIHE G 4] skttt ok 2.6
47 I SC BEE 4] sestsksotetsksteotokklok 4 7
48 WIHE T4 4] wksok ok kotokkk () )
49 Y HE S T 4] dkskkkdskokokkkdokok 6 |
50 WIFIE S TS 4] sksksokskokokokokok O 8
51 I E S e 4 skskskokskokoskstoksokskoksk 2 X
52 WIHE ik 4] sskskopstettoktotok ok 6.3
53 I SC 2 TN 4] stttk ok 26
54 HIHESC Zd 4 Iokssotooaoskotook ok 8.4
55 I SC T P& 4] stttk 9 |
56 WIHE MRAFHL 4] ssksopstettototokskok 04
57 I SC B1E 4] stttk 4
58 WIHE EAEE ] 4] kst ok 0.8
59 Y HE S B | ] 4] Hkskkkdskokokkk ok k28
60 HIHIESC g 4] sskskostesttototoksok X
61 Y HE S 1% = 4] Hkskkkdskokokkk ok k28
62 HIHIESC X4 4 Lokttt k9 3
63 I SL WA 4] stttk ok 28
64 WIHE LEN R m———rele!
65 HIHIE K 4] ssktsokgokatok ko 2 )
66 HIHESL TELE 4 Ikttt kok 0 8
67 I SL BAR AR 4] setstsseosteksokotokskok 013
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FFs RE AL 4 SHiES
68 HIHIESC Tl e R 4 [skttokfokootok ko 20
69 I SC R 4] stttk skok 8 2
70 WIHE XI| i 4] setsoisotsookokskok 2X
71 I SC {5 E 4R 4] skttt ok 86
72 HIHESL e P 4] ssksostettototoksok 4.3
73 I SC BRI 5 Lokttt ok 82
74 WIHE Fa 4] sksokkokkotkok k5 X
75 WIHE S AR 4] skt kkakokokok6)
76 HIHE S ME 4] sksksksseteeeketsierokok 1 5
77 I SC 25 R 4] setstssteosteksoktokskk 9 3
78 HIHESL B 4 ekttt 6 3
79 ] 2 RS 4 ] skskskskstoksstokaotok ok 2 2
80 W4 5 HEH 4] sskskotsksostekotokkok 49
81 Ik X 4 1 swkskstsrskosksfotokskkokk 1 9
82 LR 14 ) 4] sesksostettototoksok 04
83 HIh ey 7 ¥l 4] seststssetstkseostokskok 0.4
84 LR Tu 4 Lokttt ] |
85 ] 2 gk & 4 ] ksdsksrstokstokkokok ok 59
86 LR &S b 4] skttt ok G X
87 ] 2 FAT O 4 ] sksdsksrstoksstokaokokkok 2()
88 LR KR 4] ssksostettoteotoksok 1 3
89 HIh ey CiG 4] sseststoltstoletotokolok 2.3
90 ] H 2 oK B2 & 41 sskskskstoskskokokskoskskokok 29
91 ] 2 15 4 ] ksdsksrstokstokkokok k6.6
92 LR Wit 4 [ sksttokokotok ok 6,)
93 HIth sy G 4] seststssetstksostokskok 2.4
94 LR {3 4] ssksostettokteotok ok .2
95 HIth sy FI} 4] stttk 25
96 VI FE R 4 ] setskrstoksictokskokokkok 2 7
97 ]2 H 4 ] sksdsksrstoksstokaokokkok 0
98 LR 5K 4 4 skttt kok 2 5
99 NIk [ =e] 41 sskskstskoskskstotokskokokok 1 ()
100 LR AR 4] skttt ] 7
101 HIth sy FLEH 4] sestskstetsksteotsksktok 4 7
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FF5 WRE KA 4 SHES
102 ] H 2 K E 41 skkskskskskskodkokskskokokk 3 7
103 Il LeRE = 2= B 4] sksktkdokdokskkskdok | 6
104 Il LeRE N = B gz e A1 Hsksksksrsksksiokstokkokk 8 X
105 HIh ey TR I 3% 4] skl 5 |
106 ] H 2 EIKE 41 sskskststoskskokskokskskokok 04
107 Ik 5 AP} 41 skskstsrskosksdotokskokokk ()
108 ] H 2 LERE 41 seskskststoskskokskokskoskokok 24
109 Il LeRE = 157K N 4] skskstokdoksdokskkoskkok D7
110 ] H 2 J==Y/E 41 sskskskstskskokstokskokokok 6 7
111 ] H 2 M5 4 1 sksksdtoskskootokskskokok 64
112 ] H 2 XA 4 1 skskskskskskokskskskskokk 2 X
113 ] H 2 T FF5 41 skskstorskoskodotokskokokk 49
114 ] H 2 ARV EES 41 swskskskstskskskstokskokokok |
115 Ik SeE AN 4 1 skskstorskosksdokokskkokok 4 5
116 ] o 2 M E 4T sksksksdokskdotokok ook kG4
117 ] 2 EEZT TN 4 ] sstsksstokssoksokokdok |
118 LR e R m— X!
119 HIh ey K= 4] sestskstetsksktotokskok 49
120 Il LeRE N = TEE 41 ksksksksksroskkokskkokskk 42
121 ] 2 Eib 4 ] ksdsksrstoksstokkokok ok 26
122 ] o 2 [ 4T sksksksdokskdodokokdookk G X
123 ] H 2 i 41 sskskskskskskokskskskokokok 26
124 LR NI 4] sskskosteottoteotoksok 1 2
125 ] 2 &V 4] kkksokkdokokkdokk x4 3
126 ) o 2 7k 4T skskssksrdokskkdokok k9 )
127 Il LeRE = 1R 4] Fsksksrskdokdkokskokskoksk D2
128 ] H X TH: % 41 sskskskstsksksstokskokokok 7 ()
129 ] H 2 2~ 4 1 skskststokskofstokskskokok 2 X
130 ] H 2 R 41 sskskststoskskokskokskoskokok 1 X
131 NIk X B 4 1 skskststoskskokokokskoskokok 22
132 Il LeRE N = 25 RAH 4] skskskskdoksdokskokskkok 78
133 HIth sy [EE 4] skttt |
134 Il LeRE N = 20 41 kkkkkokskkokkkokkk5 ()
135 HIth sy WG 4] setstsseotsteksoktokskok 23
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FF5 WRE KA 4 SHES
136 VI HEE 4 ] skeksksketoskskstoksokokkk 6 2
137 HIh ey SFA 4] ssesetstoltstolototokkok 22
138 LR S R R m—— o
139 Ik 1)k R R 41 sskskstoskstokdoksdokskorsk 34
140 WIF 2 B 7K 75 4] sksksksseteeeketsierokok 4.
141 Ik X415 41 sksksdorsksksdotokskkokk 36
142 ] H 2 X E5% 41 swkskskskskskokokokskskkok D3
143 Ik TEk 4 1 skskstoroskskodokokskokokok 6 7
144 ] H 2 ot 41 kksksksrskskkokskskkok k89
145 ] H 2 X ¥ 41 swskskskskskskokskskskoskokok 49
146 ] H 2 XA vk 41 swskskskstskskskstokskokokok 4.()
147 ] H 2 BHVEE 41 skskststoskskokokookoskokok | 3
148 Wl [ s S T
149 Y K- 48 A1 kkskdokkdokkokok k26
150 ] o 2 AE SR 4T skskdsdsksrdokskkdokk k8 5
151 HIh ey o s
152 LR B S o 4 Tokssotoofakoskotook ok 0 4
153 Ik T 41 skskdorskoskdokokskkokk 68
154 ] o 2 Ik =k AT sksksdsdoksrdoskodokokk ] 2
155 HIh ey 251 e
156 YA E L ienm 4 skskskskekstoskokskekokok 70
157 MR geE N EE A sksttsskskskokokokokk 46
158 Y] s ] 4] skskskskdokdkokskkskkk D5
159 MR geE XI5 A3skststetssskskskskokokokk Q7
160 A H P E FhE 41 swkskskskskskokokokskoskkok 22
161 HIHhgeE ok = A skststetsskskskskskokokok 49
162 IR e g ra 4] stttk 2X
163 W g AR 4] skt 4.4
164 A H P E - FiH#] 41 swsksksksrskskskstokskokokk ()6
165 WIhgEiE A% 41 4] stttk ok 6 2
166 I g HEE=E 4 okttt ok 02
167 B s I HE TN N ——e|
168 A H P E NG UFF 4 1 skskskskskoskoskskokokokskskok 04
169 ] H L E g 4] sstskskskokokokokokokskskok4.)
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FFs RE AL 4 SHiES
170 IR e LI 4] stttk ok 4.8
171 W g T A5k 4] sksksksksletokokokskokokok 2.4
172 IR HEAE MmEE 4 skskskseteteeketsiokokokok Q.3
173 ] H B E Rzt 4 ] sskstskskoskokoskokokokokokk 2 3
174 IR HEAE MR 4 skskskseteeeketsiokokokok8 3
175 WSS AL 4] stttk D |
176 IR HEAE BElE 4] skskskssteteoekekekekkokok6 5
177 B geE 2 &7 A sktskskskskokokkok k26
178 A H P E 25\ 5 41 seskskskstoskskokskokskoskokok 4 X
179 Y JEE EHER 4] seskskskskskskskokokokokokk 24
180 A H P E #XHH BH 41 sskskskstoskoskskstokskokokok 4 7
181 A H B E ] 41 swskskekskskskokskskskokokok 26
182 W EE 24 A sdkskokokokskkk ik 1 6
183 W TEE s 4] stk 2)
184 IR e B 4] stttk otk ok 86
185 MR geE Z=E K 4] sersksrskkkskokokokokokok 85
186 IS = R m———rele!
187 MR geE LEIR A skststskskskskokokokok k08
188 A H P E ER ] 41 swskskskstskskokstokskokokk 26
189 A H L E 2= 55 41 sskskskskskskskokskoskskkok ()2
190 WIS JEEG 4] sksksksteteoekekskeiokokok |
191 Y IEAE L i 4 ] skeoksisteskoksstokokekookokd |
192 Y] s 35 F 4] skskskskdoksdkokskokskkok60)
193 W g HEX I G 4] sksksksetekokoksiokokok 2 7
194 Y I E JE e D m—
195 Y JEE HH I I 4] sk 3()
196 Y I E B A sesksksksskseskkokskekskok 4 X
197 Y JEE gk B 45 4] sksksksksletokokokskokokok X
198 A H P E R e 41 sskskskstskskokstokskokokok 6 7
199 Y HEAE i 4] sekskssksstokokektokok k6.6
200 Y I E EI ] A seskskskskskkokskekokokok 2.2
201 WIhgEiE pk 4] setstsseosteksokstokskok 22,
202 A H P E 7K 2 1 41 swskskskstskskskstokskokokok ()8
203 HIHh geE B 4] skststsksskskskskokekokk 09
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FFs RE AL 4 SHiES

204 IS 2 4] sskskstesetoseotokskok |
205 B geE T A sksttskskskskskokekokk 45
206 Wi gei S0 4l 4] ssksostesottotetoksok 4 X
207 B geE kA BE A skststskskskkskskokokokkok 8 4
208 IS X FEE 4] sskskotsksodstekootok ok 4.8
209 I hgEiE P 4] setstsseotstkseostokskok 4 X
210 A H P E I BH Bk 41 skkskskskskskkokskskkok k85
211 Y HEAE Xl 4] skeoksksteskoksksokokekookok D |
212 A H P E NS 4 1skskstskskoskoskskokokokokskk 1 3
213 A H B E JE R 41 sskskekskskskokskokskokokok 4 7
214 Y A E ik 6 2skskskskskskstokokskekkok 2.4
215 A H B E ¥ £ 4] sskstskskokokokokokstkokskok 4 |
216 IR HEAE RIS 4] skl 29
217 MR geE B2 A skststsksskskskskokekokk 5
218 IR HEAE 5K 75 5 4 skskskssteteekekekskkokok 2 7
219 WIhgEiE XI) PR B 4] stttk 4.8
220 IR HEAE B E 4 sksksksseteeekeisierokok(0 7
221 Vs T P A skktfeskskkokokokekk k60
222 IS 25 Hi gl N m—— 1
223 A H L E BHFA 4] sskskskskokoskokokokokokskok 76
224 YA E F4& 4 sskskskestoskokskekokok 36
225 W g 2T 4] sksksksketoekeksiikokok 2.)
226 GBS X1/ 4 T okssotoiofaoskotook ok 0 4
227 A HH B E F 85 41 sskskekskskskokskskskskokok 8 5
228 IR B FHoH 4] skskskssetoekokekekokokok 2.6
229 HIHhgeE fif SR 5 4] skskskskkskskskokokokokok 4 T
230 LS T 4] kol ok kokkk 20
231 Y IEAE N 4] skeoksistoskoksksokskekokokok G4
232 IR B k75 4] skskskssteeekekekokokok 69
233 B s 7% 4 ssksksksieksteskkokskekkok 4.4
234 Y I E i A seskskskskskskokskekekokok 5 2
235 Y HEAE F— 4] skeskskssksstokoksktokokk (09
236 A H P E F 41 sskskskskskskokokskskokokk 27
237 ] H L E 14 ] 41 ssrskstosksdokdoksdokskoksk 2 2
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FF5 WF KA 2 SHIES

238 IS 7 F 2 4] seskskopstettoteotoksok 4.3
239 ] H B E BEVERER 4] sksksteskskokskskokokokokskk 8 7
240 A H P E Y 41 sskskskstoskskokokskskskokok 29
241 W g LI 4] skt 2.)
242 Wi gei —1 4] ssksotsksodstekotok ok 85
243 Y HEAE [ 4] skesksksskskstoskoksksokokk 49
244 IR HEAE B 4] skskskssteteekeketskkokok 47
245 I hgEiE J=RIAT 4] stttk ok 28
246 IS FH T 2 4] sskskotstetetoksotokskok D |
247 L A5 HELFH 4] stttk sk 22,
248 A H P E AR 41 swskskskstskskskstokskokokok 49
249 HIHhgeE I I I A skststesskskkskskskokokookd
250 Y] s TR 4] ssksksrskdoksdoksdkokskokk 3
251 MR geE BT A skststsksskskskskokekokk 5
252 YA E FiF A1 sskskskskskoskokokekokokok 62
253 MR geE XI| 7N A skststssskskskokokokokk 48
254 IS E Q| 4] sskskotstetetosotokskok ) |
255 ] H L E 2 KM 41 srskstskstokdokdorskorsk 2 |
256 FIlleRLY/pE FH A1 ksksksksrsskstokskskokskok 4 |
257 IR REY/EE Je SO 4] stttk 20
258 Follasky/piiil = e 4] skskotoksrdokskrdokok kD |
259 FIllsRE /B [ien A sskstsksrstokstokdokokoskok ] 7
260 FIlleRLY/pE AR A1 sksksksrseskstokkskokskok 6 |
261 FIRasE 7/ BEii] ER XK 41 skskstoroskoskofokokskokokok 78
262 FIlleRLY/pE 251 73 4] sskssksrskoksokskokskskok 28
263 Folla sk bl ok = I 4] kkskkdokkkokkkkkk55
264 FIlleRLY/pE =455 A1 sksksksrsskstokekskokskok
265 FIRasE 7/ BEii) F el 41 swkskdorskskdotokskkok k96
266 IR Y/BL 5 v 4] kst | 8
267 FIRasE 7/ BEii] B 4 1 sksksdstokskootokskskokok 8 1
268 FIlleRLY/pE FPEE A1 Hsksksksrssksokkskokskok 1 5
269 IR REY/EE 2 o 4] sestskstetsksteotokkok 2.7
270 FIlleRLY/pE L Tk A1 Hsksksksrsoksokkokkkk 86
271 FIRasE 7/ BEii] gLt 4 1 skskstorskosksdotokskkokk 25
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FF5 WRE KA 4 SHES

272 FIlleRLY/pE PN AE A1 ksksksksrsskstokekskokskok D |
273 FIRasE 7/ BEii] HRFH] 4 1 skskststokskofotokskoskokok 2 X
274 rIlleRLY/pE AR A i A1 sksksksrsksksioksokkokk 2.4
275 FIRasE 7/ BEii] XA 4 1 skskststoskskootokskskokok 8 1
276 rIlleRLY/pE B 4] kskekskstsksksksksokkok k8 2
277 FIRasE 7/ BEii] Ny 4] sksksweskskskskokskokokskoksk (04
278 rIlleRLY/pE ZRE T A1 Hsksksksrsksksioksokkokk 6.4
279 FIRasE 7/ BEii] ok 4 1 sksksdsrosksksdotokskkokk | 5
280 rIlleRLY/pE XS 41 kskekskstskskssksokkokk 8 2
281 FIRasE 7 BEii] T 41 skskststokskootokskoskokok | 1
282 ollaskypeiil X B R 4] kdskskdoksdok ko dkk 30
283 FIRasE 7/ BEii) WM/ME 4 1 skskststoskskootokskskokok Q4
284 IR Y/BL 0% e 4] sskskotstetetosotokskok ) |
285 PRy Ve 2K F} 4 1 skskststoskskootokskoskokok 4 4
286 Ak 2 ERV 57 41 swskskskstskskskstokskokokk 20
2817 Hirh ik gi it B2 4] stttk ok 28
288 YAk 2 eS| 4T skskssksrdokskkdokokk 4)
289 Foiasy Ve s 41 sksksdosroskoskodotokskokokk 46
290 Il RE = JE TN 41 kkkkkokskkokkkkk k68
291 Ak 2 Lk 41 skskstsksfestosksfeokosksoksk k4.2
292 Ak 2 TR 41 skskskskskskskdkokskskkokk 8 |
293 Foiasy Ve F& 4 1 skskststoskskofotokskokokok 2 X
294 Ak 2 ERIpES 4 1 ksksrskdorskdokskodokskok 25
295 YAk 2 K- ¥4y A1 kdkskdokskodokdokokdok4 7
296 YAk 2 TR 4T skskdsksksrdokskkdokok k7
297 Il RE i = H-F gt 4] Hksksrskdokdkokskokskoksk 42
298 Il RE = 2T 41 sksrskstskstokstorskokskokok 4.()
299 PRy e X E 41 swskskstsrosksksdotokskokokok 46
300 LR AT B 4] skttt 4.0
301 Ak 2 J g ptin 4 1 skskskokskekosksokskokskokok 5
302 Ak 2 Ly 41 skksksksrskskdkokskskkokk 1 6
303 LR R HTH 4] sestskstetsksktotokok ok G 7
304 Ak 2 p A 41 kksksksrskskdkokskskkokk 4 8
305 B4k 2 B PRI 4] skkkskskkdokkkdokkk ] 9
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FF5 WRE KA 4 SHES

306 YAk {d] 37 4] ssksksrskstokskokskokskoksk 2 X
307 Il RE i = A 4] Fkskstokdoksdokskokoskkok D7
308 Il RE = K YR 41 ksksksksksrskkorskskorskk | 3
309 Foliasy V= T 41 swksksdorosksksdokokskokokok 6 7
310 Wi S lElE 4] sksksostetetoktotokskok 02
311 YAk 2 TN A1 kkskdokskdokkokok 4ok 2 )
312 IR H LA 4] stttk ok 9
313 Foliasy V= B H 4 4 1 sskskstoroskskototokskokokok 4 7
314 Wi [ R m— 1o
315 YAk 2 #E g A1 kkskdokskdokdokok gk 3 7
316 Ak 2 Xy 41 skskskskskskskokokskskkokk 60
317 Wirh ik FRR e 4] sestskstetskskteotskskok 25
318 W) F 5 41 skksksksskskkokskskk ok k66
319 HIh A TR 4] stttk 8 3
320 VAW K W0t 4T skskssksdokskkdokk k65
321 IR W) Pt 4] sstskteksoodoksioklok 46
322 HIhAY) FLAt 4 4] sskskotstetetosotokskok ) |
323 R A=) FEAR Hi 41 sskskskskskskokokskskskokok 6 |
324 Y A=) oL 41 kkkkkkskkokkkkk k26
325 Wb A EIRIR 4] setstsseotstkseostokskok 0.4
326 HIThAY) 2 g 4] kst otk ko6 5
327 R A=) AFE R 41 sksksdstokskootokskskokok 3 1
328 W) EESA) 41 skkskskskskoskokokskskokokk 27
329 YA Tl A1 sdksksdokstokokdokokdok ()4
330 YT AEY) R3¢ ML IR 4] sksksksiosksoksokskokskkok 4.6
331 HIh A HR 4] sestsksotetskstotokokok 46
332 HIhAY) 25 Bk R m——y T
333 YA kI A1 kdksrdokskokokdokok ok 2 X
334 HIhAY) SOk R m— X!
335 HIh A BE TN 4] stttk G
336 ILRERY)| e S 4] wokgsokkookkokolk 2.4
337 YA JHE 3R A1 kkskdokskdokdokokdok 19
338 B AEY) T A skskskskekstoskokskeksokok 30
339 R A=) i 4 1 skskststoskskokokokskoskokok 22
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FFs RE AL 4 SHiES

340 HIThAY) X1 23k R m— X
341 Wit A BV 4] sksktokok kol k6.6
342 HIThAY) X 4] ssksostesottoeteotoksok 04
343 Ik A KT V|
344 HIThAY) Wk 4] ssksostesottoseotoksok 4 X
345 ¥IhIEE S5k gk 2 4] seststsseotstkseostokskk O X
346 WIHiEE SR XI| SE i 4 Lokttt ok ) 3
347 WIrh s kA oK 7S 4] stttk ok 26
348 WP kA S| 4] stsoisotsookokskok 4.4
349 ¥IhIE S S50 BERG 4] skttt ok G 7
350 WP kA BB 4] ssksostesttoseotoksok 4 X
351 ¥IhIE S S50 HRUALL 4] stttk G
352 Y iEE 559G X vE 41 ssrskskskodoskstokskokskoksk 63
353 ¥IhIETE S5k HEE T )
354 IR kA 25 /NR 4] sskskostettoktotok ok 6 2
355 ¥IhIE S 51k IR 4] stttk ok 86
356 IR kA (EgELE 4] kst kol ko6 6
357 Y] P g 5 yE THy 41 skksksketokskotokskokokskok 8 7
358 IR kA BTV 4] sskskotsksofsteskofotok ok 79
359 ¥IhIE S 51k 2 £ i 4] seststsseotstekskootokskok 22,
360 WIHiETE kR XI5 4 Ikttt kok 2 5
361 ¥IhIE S 51k B 4] sestskstetskstotskskok 20
362 WP kA KEE R m——r
363 ¥IhIE S 51k 2k 4] stttk 25
364 WP kA 254 4] sskskostesttosotoksok 4 X
365 ¥IhIE S S5k LA YE 1 Sskstetstosseofstoksototoksk 2 2
366 WP kA % E Y
367 ) IE s 5y 3 4] kkskkkokrkokkkkkk 20
368 WP kA gk = T
369 ¥IhIE S S5k EEHES 4] stttk kok 8 2
370 WIHiEE SR F A 4 okttt 4.3
371 ¥IhIE S S5k U 4] sestsksotetskskteotskskok 20
372 WP kA B 7K R 4 skttt kok 45
373 ¥IhIEE 57k AR 4] sestsksotetskstotokokok 8 7
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374 WP kA AR/ g 4] sskskostetetoksotokskok6 |
375 ¥IhIE S 57k B /N 2R 4] stttk D |
376 WP kA 3K R m— X
377 WIrhELE S5k Trim Iy 4] setstsseotsteksoktokskok 23
378 I iEE 5k FEE 4 Lokssotoiotatokookok D |
379 Y] P g 5 yG B 41 skstskskstoskskotokskotokskok 78
380 WP kA 2543 5 4] ssksostettototoksok 4.3
381 A sk fo: 7B 4 ] sksdsksrstoksstokskokok ok 08
382 GBI g5 R m———
383 I sR wmAT 41 sksksdorskoskdotokskokokk 58
384 A sk asyi] 4T skskdsksksdokskkdokk k65
385 s S 1 4skstskstosksokskokskkoskkok 67
386 A sk LRNiEE 4] sksksdstoksdookodokokk 00
387 ¥ sR oK B2 A 41 sskskekskskskskokskskskokok 24
388 GBI Wk 1 £ 4] sskskopstettototokskok 32
389 Ik o 4] sksksksetekokeksiokokok 5 7
390 e s K- I 41 kkkkkkskkokkkkk k26
391 ¥ sR 7k 3% 41 skskstokskskototokskokokok 6
392 e s [ /NGB 41 kkkkkkkkokkkkk k86
393 ¥ sR Mz 4 1 skskstsroskeskofotokskokokk )
394 A sk % SCH] 4] sksksksdokskdotokokdookk 0 4
395 ¥ sR EW 41 sskskskskskskskokskoskskkok 29
396 I X% P 41 skkskskskskskkokskskkokk 3 ()
397 s VbRt 4] sksktkoksdokskkskdkok | §
398 YIp s TR 4] sksksksrskookskokskokskoksk 8 2
399 I sR HEK 4 1 skskststoskskokokokokoskkok 2 3
400 e sk XA L 41 skkskskskskskokokokskoskkok 63
401 I sR B O o 4 1 sskskstoroskoskofotokskokokok 4 7
402 A sk i 4T skskskstoksdotokokdookk 0 4
403 A g sk 2= EE 4 ] skstsksstokssoksokokdok |
404 GBI F U 4 [ sksttokfokotok kok 6
405 I sR = ¢ 41 skstskskstokskotokskokokskok 28
406 e sk F) 41 skkskskskskskkokskskskokk 24
407 A g sk EFH4e 4T kkkokkdokokkdokk®k 33
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408 I RS 4 1 ksksrskdorskdokskodkoksk k65
409 Il siEN F RS A1 kdokskdokskdokskodok ok 2D
410 sk 7 4 ] setsksrstoksisokeokokkok 6 |
411 s FP e e 4] Fsksksrskdokkoksdkokskkk D3
412 e sk F B4 41 kksksksrskskkokskskkok k98
413 Il iEN W B A1 kkskdokskodokdokok k49
414 GBI F i nn 34kl ok ko k k86
415 GRS RN T R a——Xe!
416 A s JE K 41 kskskskkokskdkokskkokkk 24
417 Il iEN T A1 kksksdokskdokdokok gk 4.()
418 GBI I 2T 98¢ 4 ekttt | 3
419 I sR o 5 4 1 skskststoskskootokskskokok 2 X
420 ) o Hh P KB A1 skeskskskskskstokoksksokok k6.8
421 ] HF Hb B XLV 4 1 sksksttokskootokskskokok 24
422 AT b 2k 7k e 41 skskskskekstoskskskokekotokok B 5
423 A v i 3 7% B T A skststetksskskskskskokokok QD
424 ) o Hh P 2K F] A1 skeskskskskskstokoksksokokk D 5
425 ] b B T 4] sk |
426 ] H 3 fizv 4] kkskkokokokokok k48
4217 I Hh B AN 4] stttk 25
428 A Hh EsIpin 41 skskskstsksksoksokkokk 2.3
429 I Hh B B4R 4] seststssetstkseostokskok 4 X
430 ] H 3 SR B A kskskkstotokok ok 8 X
431 ] Hp b B AR 41 sskskskskskskskokskoskskkok 29
432 AT b S 41 skskskskeksteskskskokektokok 86
433 I Hh B I NS 4] stttk 4
434 ] H 3 gl 4]kt k k00
435 )b b ¥ &Y ST 4 ] sksksksksdoksdokkokkk kG
436 A vp i 3 JE 4 A stk k k%26
437 ] Hh B Iy 4 1 skskskokskekosksskskokskokok 20
438 ) o Hh P nE 4 ] sksksksteskskskskskekokokok 5 X
439 ] Hh B XSt 4 1 skskskokskesksokskokskokok 4.6
440 WA HhEE W 4] sksksksseteeekekekokokok 2.6
441 o] TE 1 4tttk 4.5

%13 T, 4L 23 W




IR HT X 20225 ] AL = A FF B S T R R T FUR KA R 4% 5

FF5 WRE KA 4 SHES

442 ATk Ve A1 skskskskstesksksteskskoskokksk 20
443 A v i 3 Y AN A skskstsskskkskskskokokok QD
444 ) o Hh P X1 A1 skeskskskskskstokoksksokok k6 5
445 b b PR X I 4] sk 1 5
446 ATk I EE3 A1 ssksksksteskskskskskoskokkok 8 5
447 ) b FE = S —s
448 ATk E ) 41 skskskskekstoskskskskeotokok 25
449 ¥ 2R 4] sksksksketeekeksikokok 4.)
450 ] H 3 AR Akttt otok 4 X
451 ] P Hb B FH 4 1 sksksdorsksksdokokskkokk 89
452 ) o Hh P = 4] sksksksteskskskskskekokoko kG X
453 VIR E FEEE A1 kkskdokkdokdokok k66
454 YIHIRE =N 2 sskskstsksrdokskotodokok 3 |
455 YIHARE [y 41 sskskekskskskskokskskskokok 7 |
456 YIHIRE [ b 4] kdskskdokkdokkokok k57
457 YIHARE HE 4 1 sskskskstoskskokokokokskkok 8 2
458 YIHIRE A5 AT skskskstokskdotokokdookok 4 X
459 YIHARE TS 41 sksksdoroskoskodotokskokokok | 8
460 YIHIRE s 4 skskskstoksdotokokdookok | X
461 YIHIRE FbxE 4] skkkdokkkokkdokokk ] 4
462 YIHIRE R AR 4T skskdstsksrdokskkdokok k7 ()
463 WP R E /N 4] seststsseotsteksosioksok 3.4
464 YIHIRE k67 4T skskdssksrdokskkdokok k9 7
465 YA E OB 41 ssrskstoskdoksdokskoksk ok 89
466 YA E LSy 41 skkskskskskskokokokskoskkok 32
467 YIHIRE XI| e 4 1 skskststokskootokskoskokok 24
468 WA E T B 4] stttk ok 06
469 YIHIRE ek 4 1 skskststokoskootokskokokok T4
470 YA E FH & 55 41 skksksksrskoskkokskskokokk 67
471 YIHIRE RO 4 1 skskstorosksksdokokskkokk 75
472 VIR E Tk 4T skskdssksrdokskkdokkk 1 6
473 YIHARE F/NBE 4 1 skskststokskootokskskokok | 1
474 YIHIRE 15 4] skskksdokskdodokokdokokk G4
475 YIHARE 7k 22 4 1 skskstorskosksdotokskokokk 5 7
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476 YA E T 41 skkskskskskoskokokskskokokk 4 7
A77 VIR E FEARFA A1 skdkskdokskdokkodok ok 32
478 INFAE L 4T A1 sksrskstskstokstorskokoskokok ) 7
479 INEEAE L & FE T 4] Fksktskdoksdokskokskkok ()
480 INEEL ik ) 4] kst dokkokk 6.0)
481 INEEEL THHE 4 1 skskskokskeksksskskokskokok 4.5
482 INERE F 41 skkskskskskskokokokskoskk k8 3
483 INEEEL il 4 kskssksdkskskdkoskdkokkk 83
484 INERET iE/ag 41 ksksrsksdorskotokskokokskok 49
485 INEEAE L T A1 sktsktokorsoksok ok k62
486 INEFEEL TN A 4] kst ok ok k8 7
487 INEEET FFHu 4 1 skskststokskokotokskskokok |
488 INERE 5 £ % 41 skskskskskskokokskskoskkok ()2
489 INEEEL T HiFH 2 | skskstsksskskokoskokokkoksk 29
490 INEEAE L FH 4] stttk ok 2.8
491 INERET =N 4] skskswskskskskokskokokskoksk 24
492 INEEAE L Rk 4] stttk kD |
493 INEEEL PNE 4 skskskskskokoskstoksokskoksk 4 X
494 INFEEL P2 4] ssksksiskooksdokskokskokk 8 3
495 INERET = &% 41 ssksksfstokskokokokokskkok 8 3
496 INERET IS Y 4 1 ksksrskstorskotorskotokskok 64
497 INEAE L 2z 4] Fskskstoskkoksdokskkoskkok 4 ()
498 INFEEL BRI 4] sksksrsksiokskokskokskoksk 84
499 INERAE L ok A1 skdkskdokskdokkdok ok 2D
500 INZFAE L ZEIXA 41 skttt kok D8
501 INFETEL S 4T skekststokadookokodookk § 4
502 INFEEL ] 4] ssksksroskskokskokskokskkok D 5
503 INEFAE L k¥4 A1 kdkskdokkdokdokok ok 26
504 INZFAE L B ok 41 ksksksksksroskkorskskoksksk | 2
505 INEEEL BRA] 4 1 skskskokskskosksskskokskokok 4.8
506 INZFAE L W 2 Dskskstsksskskokskokoskdokk 2 7
507 INEEEL ETETESN 4 serskotskefokstoksiorokoksk 2 3
508 INERET s 4 1 ksksrskstorsketorskokokskok 9 )
509 INEEEL A& 4 kstrsksdorokadorokodokskok 26
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510 INEFE L FH ¥R AR 41 sskskskekstoskskskskekotokok 25
511 INEEEL ok 4 1 skswskokskokskstokskokskoksk 2.3
512 INERE FH 300 12 41 swkskskskskskkokskskskok k64
513 INEEET XA 41 skskstorsksksdotokskkokok 46
514 INERET 2a 4 1 ksksrskstorsketokskokokskok 6 )
515 INERAE L ESIERR 4] skskskskskskdokdkokkskk 59
516 /INFTER L e 41 kkkrokkk kKR H A D
517 /NIRRT SR 75 4] skespststookskooktorokok 45
518 INERE F EZF] 41 skskskskskskoskodkokskskokokk D |
519 INEEEL X C 41 kskskskdokskdkokskkokk k4.6
520 INFAE L BT A1 sksrskstsktoksokskokskkok D 5
521 INEEEL T A 4 1 skskskokskekskseskskokskokok 2 ()
522 INFEEL TG By 4] sksksksiskskskskokskokskkok 69
523 INEEEL THE= 4 1 skswskokskokskstokskokskoksk 5 3
524 INERE F g 41 sskskskstoskskokstokskokokok 7 |
525 INERET M 4 1 skskstoroskoskodotokskokokok 4 7
526 INFE ST I/ 4] skl ok k() |
527 INEEEL = 2= 4 sstsktoketokstokekotoskokokG 5
528 INEREL S8 4] kkskskdokkdokkdkok k4 3
529 INEEEL WPH 4 skskskskskokskstoksokskoksk |
530 INERE F EZ 4 Tskskskskskskskskokskoksksksk 6 6
531 INEEEL WRHT i 4 ssrskotokefoksforskotokokok D 7
532 INERET grFatn 4 ksksrskststoskoforoskokokskk 6.3
533 INERET BEE 2 Dsskskskskskskskskskskskskk DX
534 INEEAE L HHEE 4 sksksksetetekekstesiekokokok 4.9
535 /NIRRT ] 4] skpstrsksokorokok k64
536 INERET TR 75 4 1 ksksrskstrskotorskotokskok 24
537 INEFAE L PN A1 kdksrdokskokokdokok ok 2 X
538 INERET Y& 4 1 ksksrskstorskotorskotokskok 44
539 INEFAE L LRy E] A1 sdkskstokstokokdokokdok 4 X
540 INFEEL I3 4] sksksksiosksokskokskokskkok 4.6
541 INEAE L A A1 sskstskstskoksokokdokk 2 X
542 INFEEL A= 4] ssksksiskokokskokskokskoksk D 3
543 INERE AS HENT 41 kskskskskskskosksksksksksksk Q4
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544 INERET s 4 1 skskstskstestskoforoskookskk 2 2
545 INER R it PR B 4 setskotskefokstoksorokoksk 3 2
546 INER R L 41 skskskskskoskokokskskokoksk | 7
547 INFER X ZE 40 4] Fskskrsktokdkokdokskokk 24
548 INF R 7K e 41 kskskskkskskkokskkokkk QX
549 INZFR KT A1 kdkskdokskdokkodok ok 2 3
550 INF R X TR 41 kkkkkokkkokkkkk k26
551 INFER S 4] Fskskrsktoskdkokdokskokk 24
552 INER R B ok 41 skskskskskskoskodkokskskokokk D |
553 INFER E NI 4] Fkskrskoskskoksdokskokskq |
554 INER B 4] sesksksrskookskokskokskoksk 8 2
555 INFER Z= B 4] Fkskrskoskskoksdokskokskq |
556 INER R EfE A 4 1 skstsrskstorskotokskokokskok 4 7
557 INER R AT 41 kskskskdkokskdkokskkokk k8 ()
558 INF R = 41 kskkkkokskkokkkokk k46
559 INER R FH 4 A 4 sstskotokefokstokekotokokok 7
560 INER R o B 41 kkskskskskskkokskskkokk 25
561 INFER YR VE 4] Fkskrskoskdkokdkokskoksk 4 X
562 INER R JOEE 41 skkskskskskskokokskskoskkok 22
563 INER R 25 SR 41 srskstoskstokdokdokskork 8 4
564 INER R gk TH- 4 1 sksksksksdsrosksdorskdokskk 4 X
565 INFE SR 4T skkkdokkkdokkkokk D |
566 INZE R MR R 4] sksksiskstokskokskokskoksk 74
567 INFER BT 4] Fkktkkokdokkkk ik 86
568 INEE R p At 41 skksksksrskoskkokskskokokk 67
569 INER LRV 4 [tttk ook k8 3
570 INF R =5yl 41 kskskskskorskkokskkokkk 2 X
571 N %5 4] sestskstetsksteotskktok 4 )
572 INER R 1545 4 sksksrskstrskotorskotorskok 2 X
573 AN = ENAR 4 ssrskotokefokstorekotokokok 4.8
574 INF R £ 41 kkskskkokskkokskkokkk2 |
575 AN = FMefFE 4 ssrskotokefokstorskotokook | 5
576 INF R X7 41 kskskskkorskkokskkokkk 34
577 AN = SRVA 4] kskskskskokskdokskokokskok 1 )
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578 INE R Wweey A1 kst dok ok k88
579 INFER EYES 4] koo ok kx5
580 INER R Al I 41 sskskskstoskskokokskskskokok 2 3
581 INER R M E SR 4 sstskotokefokstorskoroskokok 2 6
582 INF R Y 41 kkkkkokkkokkkokk k88
583 INZFR 2 4] sk ok kkx )
584 INER R 5K ik ik 4 sksksrsksdekosksdorkskodokskok 4 7
585 INER R FEE 41 sksksdorskskodokokskokokk 26
586 INEEE Yot 4] kdsksrdokkskokdokkdok 24
587 INER R X128 F) 4 sstskotokefokstorskorokokok 4.6
588 INER R XK 4 ] sksksksksfestosksfeotokodkoksk k4 3
589 INFER [ 7 4] Fskskrskokdkokdokskokk 24
590 INEER 2 s HE 41 sksksksiokokokskokokokokek ) X
591 INER R BE-$:2 4 skskskskskoksksokskokskoksk G X
592 INER R 15 41 skkskskskskskokokskskoskkok 4 3
593 INER R X 4 1 sksksrsketskskokskskokokskok 4 )
594 INEEPLE: TS ¥ TN 4 ] sksksiskokokokokokskskoskskok 4 5
595 INEETEE K ek A skststskskskskokokokok k08
596 INFEE s 4] skskskstoskskoksokskokskkok 4 |
597 /N TR FLIET 4] sesrskskskkkskskokokokokok 2
598 INFEE FEmRK A1 kstoksrsoksdokdokdokk G X
599 IINEE PR T D Dseskskskskskskokeskskokokoksk 28
600 I\ AR FINE 4 1kskskroskoksterskskokokk 2()
601 ANEE AT ingis 4] seststsseotstekseostokskok 24
602 INEE R XVE A1 sksrskstskotoskstokstokskoksk () X
603 INEETEE T4 4] seskskskskokskokekokokokokok 4 3
604 INEE R L2 A0 4] srkstoksdokdkokskorskkk 89
605 /N TEE AT pRs 4] stttk ok 26
606 NG T 4] stttk ok 29
607 INEE TR BB R 4 A skststessskskskskokokokok Q7
608 INEEPLE: B E i 4 1 kstsrsktorsketorskokokskok 5 )
609 /N TEE ZEFRRK 4] sestskstetskstotskokok 4.8
610 I\ E: [ESS%Y 4 1 skksksksrskskkokskskokokk 49
611 ANEE AT A 4] sestskstetsksteotskskok 4.5
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612 INFEE 2= A 4] skskskstoksksksokskokoskokok D |
613 IINEE R B 41 ksksrsksdskoskdkokskdkokskk 4 X
614 INEE R LV 41 sksrskstsktoksokskokskkok GO
615 INEEGEE X5 R 4] skskskseteokokoksiiokokok 2.8
616 I\ AR FFE 41 skksksksrskoskokokskskokokk 27
617 IINEE R fo i 4 sstskotokefokstorskotoskkok 8 5
618 INFHEE FLEE A1 kst () |
619 IINEE R £ 4 sstskotokefoksfokskotokook 1 ()
620 INFGETR g R )
621 /NI s 4] skpststokokskooktokokok 6.5
622 INFYETE i 4] stttk ok 8 5
623 INEEEE FE Bk A sksstsksskskskskokekokk 49
624 INEEPLE: 5 HE Kl 41 tsrsktorskotokskokokskok 26
625 /N YR e 4 ssksksksieksteskkskskekook 4 X
626 INEE LR o {7 4 1 sksrskeskskekskotoksokoskoksk 4.2
627 IINEE R X £ 34skskkskskskskskskoskskkk k66
628 INEE R Ji%E 41 kst kok 4.6
629 /N TEE BXICTE 4] sestsksotetsksteotskklok 4 7
630 NG o 4] stksetkoksotokokkok 1 9
631 IINEE R Gl 4 1 sksksdorsksksdotokskkokk 25
632 I\ AR AN 4 T sskskstorskoksfotokokokoksk | 5
633 INEETEE (pa 4] sesrskskskskkskskokokokokok TG
634 INEE R NN A1 skskskstskotoskstokstokskoksk 24
635 INEETEE 75 H 4] sk 20
636 INEE R FRgE A1 sksrskstskstokstorskokoskokok ) 7
637 IINEE R HEE 41 skekekskskokokskskokokokok 2 X
638 NEETEE SR PNER N ———l),
639 NFIETE 55 R 4] sestskstetskstotskokok 4.8
640 INFARE R 4] ssksostettokteotok ok .2
641 INFARE BN 4] seststssetstksostokskok 2.4
642 INFEARE LA 41 kksksksrskskkokskskkokk 39
643 INFARE Ei 4 ] sksdsksstokssoksokokdok 24
644 NEEE XA HE 4] sk sk ok kol k k86
645 INFEARE Wit 4 1 skskststokskootokskskokok | 1
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646 NFEARE B E 4] stttk 2X
647 INEEE R PGS 41 skeskestsksteskskstokskotokskok 4 X
648 INEETE IR £ R T 41 sskskskstoskskokokskskskokok 2 3
649 INEE IR i) 52 1 4] Fksktskdoksdokskokskkok ()
650 INEE IR Bz 4] kstksrstoksdokdokkokk ()
651 INFE IR PN R 3 Tskstskotokafoksfoksokskok 28
652 INEETE IR KA 4 ] sksksieskokokokokokokokokokok 8 3
653 INFE IR Mg 4 sstsktokefokstorskorokook (08
654 N IR gk LB 4 skttt kok 4.
655 N IR i T R a——Xe!
656 N IR XIFEEE 4 okttt ok ) 3
657 INEEE R LA 4 1 skskstsrosksksfotokskokokok () 7
658 INEETE IR SLE N 4 1 sksksksksdskosksdorskdokskk 2 4
659 N IR REH 4] seststsseotstkseostokskok 2X
660 INEE IR X T A1 kstokstokskstorsdok ok k4 2
661 INEEE R S 41 sksksdoroskoskodotokskokokk 28
662 INZETE IR PR 4 1 sksksksksdskosksdorskdokskk 2 4
663 INEEE R XA 41 sskskskskskskskokskskskokok 4
664 INZETE IR e 4 1 sksksrsksteroskdokskodokskok g |
665 INEEE R V! 4 1 skskststoskskokokokokskokok 2 3
666 N IR I 4 skskskssteteeekekekkokok 2.5
667 N IR HEEH 4] stttk 08
668 INZETE IR ERTES 4 1 sksksrskstrskatorskotokskok 6 X
669 INFE IR 1 & 4 sstskotokefokstokskotokokok D
670 N IR SR N 4] skttt 4.0
671 INEEZE R KA 41 ssrskstskstokdokdokskork9 4
672 INFFREAR i T )
673 INFEFER e A1 kkskdokskdokkokok k49
674 INEESER XI5 4 1 skksksksrskskokokskskokokk 28
675 INFETER  EE IS 4] Fskskrsktokdkokdokskokk 24
676 INEEER A 4] skskskssteteeeketokokokok 2.8
677 INEEZE R B 4 ssrskotoketokstorekotokokok 4.5
678 INTETER 4T 4] skswsksiosksosksokskokskokok 4.0)
679 INFETER ERIA 4] sksktokdoksdokskkoskkok 29
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680 INFFER K48 41 kskskskkokskkokskdkokk kB X
681 INFETER Zs 4 4] Fkskrsktoskdkokdokskok k6 X
682 INEESEAR ki H 4 ] sstskesrstokssokekokkok 6 )
683 INEEZE R % 41 sskskstoskdokdoksdokskoksk 3 3
684 INEESER X2 IH 41 sskskskskskskodkokskskokokk 4 |
685 INEEZE R XI5 41 ssrskstoskdoksdokskokskkok 20
686 INEESER R 41 skskskskskskokokokskoskkok 22
687 INEEZE R ey =] 41 swksksdorosksksdotokskokokk 25
688 INEFER X1 IBUR 4] kkskskdokkdokkkok k4 3
689 INFETER Tk 4] Fksksrskdokdkoksdkokskkk 62
690 INFFER BRE R 41 kskskskkorskkokskkokkk4 4
691 INFEFER F A5 4] sksksketeokskskokokokok Q2
692 INFFER Ey - 41 ksksksksksroskkokskkokskk 42
693 INFETER 2 TH 4] Fsksksrsktokdkokdkokskokk6 |
694 INFFER XN 41 kskskskskokskkokskkokkk 2 X
695 INFETER [ = 4] sksktokdoksdokskkskkk D5
696 INFFER X 41 kkkskkkskkokkkokkk()5
697 INEEFER T 4] skskskeletoksksiokokokok 9.3
698 INFESER IR 4] kstokspoksrotokdokdok k2 3
699 INEE R A B AT 41 sksksdstokskokstokskoskokok g |
700 INEE R 2 N 4] skskskstoskskokskokskokskokok 4 T
701 INEE R A X 48 4E 41 sksksdorskskdotokskkokk Q5
702 INEERR) 2 I E 4] sksrksrstokdokdokkokk (09
703 INEE R A FR®E 41 sskskskskskskskskskskokokok 4.()
704 INFR 3] 3T skskksksrokdkkskdkokskkk6)
705 INFER Z 5t 4] sk ok kkx 0 ()
706 INFR HXEH 41 kkkskkokskkokskkokkk ] 5
707 INEE R A VT35 4 ssrstskotokafokstorskorsk 3 4
708 INFR Tk 41 kskskskkokskokokskokokskok 4 x
709 INFERR 2 5 X UG 4] Fkskrskdokdkokdkokkkk 63
710 INEE R 2 SR/R R 4] sksksksioskskosksokskokskokok 2.6
711 INEE R A 7K ZINRR 4 setsktskotokafokstokskorsk 6 |
712 INFR K1 41 kkkkkokskdkokkkokk k28
713 INEE R A P ERER 4 sstskotoketokstorskotokkok 2 8
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s WRE KA 4 SHHES
714 INF R = 41 kskskskkorskkokskkokskk4 X
715 INEE R A FIAY 4] ksksksksdsksksdkokskdkokokk 2
716 INEE R 2 BAZ K 4] skstckstckoksdokdokdokk ] 4
717 INEE R A BEIX 4 srstskotokafokstokskorsk 44
718 INEE R 2 S i 4] skstksrstokdokdokokokk6 |
719 INEE R A 5/t 4 sstskotokefokstorskotokokok 2 ()
720 INEE R 2 p AN 4] skskskskdokdkokkokskkk 28
721 INEE R A ) 4 sstsktskotokafokstokskorsk 2 |
722 INEE R 2 FEE TN 4] kst dokkokk 4.6
723 INEE R A 4 4 sesrstskotokafokstokskorsk 2 X
724 INEE R 2 F IR 4] kst dokkokk 8 ()
725 INFERR 2 T U5 4] Fsksksrskoskdkoksdokskokk6 |
726 /N PNIMF 4] sektsioteropoklorotokokk 6.3
727 INEE R A FEMH 4 ksksrskdkokskdkokskdkokkk 28
728 INEE R} K FH] 4 1 sksksrsksdoroskdokskodkokskk 49
729 INEE R A i 4] ksksrskdokskdkokskokokskk | 5
730 )L G| 41 kkskskkokskkokskokokskk4 7
731 )L FRAIL 41 kkskkskskskkskokskkkk 26
732 )L o 4 1 skkskskskskskokokskskkokk 28
733 )L 2K P 41 kkskkskokskkskokskkokk 4 5
734 )L F Bk 41 skskskskskskskokokskskokokk 67
735 )L Sfkim 41 kkskkskokskkskokskkokk 4 5
736 1)L 25 Wy oy 4] ssksksksksiokskokskokskoksk B X
737 )L [ERNA/E! 4] sk 44
738 2h )L 2 [ 4] sksksksiosksoksokskokskokok 2.8
739 #h)L Sk Ry 41 kskskskskokskokokskokokskk 2 X
740 )L 7K [V B 41 kkkkkokskdkokkkokk k28
741 4L JE 4] skeskestekskokoskskskokokokskok 8 1
742 2h )L =T N 4] sksksrskotokskokskokskoksk 2 X
743 #h)L AV B 41 skskskskskskoskskokoskkoksk k8 3
744 )L FiE 41 skkskskskskskkokskskskokk 24
745 %)L 3 H 4 1 ssskssksdoksdokskeskokok 6.6
746 2h )L 2115 H 4] sskskstoskskokskokskokoskkok D 7
747 %)L FiH# 4 1 kssksisksdoksdokskeskekok 4.5
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748 )L R 41 kkskskskskskkokskskokokk 7 ()
749 APINT TR 4 Tkl ook k()2
750 %)L I R 4] kkskskdokkdokkdok k23
751 %) LI F% A sksksttskskskskskskokokok D 3
752 )L FF) 41 skkskskskskskokokskskkokk 25
753 )L KRR 41 kskskskskokskokokskokokskk4 5
754 )L T 41 kkskskskskskkokskskkk k26
755 4L YR 41 kskskskskokskokokskokokskok 2 7
756 1)L A 4] ssksksiskokokskokskokskoksk D 2
757 4L A 4 1 skskskskskokskokokskokokskk 20
758 )L N 41 skkskskskskskkokskskokokk 4 5
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